Transfers Report

This report contains the transfers results.

Valid Votes	3,496
Positions to be Filled	3
Quota	875

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Anne ANDERSON	Scottish Liberal Democrats	151
Graham LINDSAY	Scottish National Party (SNP)	692
Kathleen MARTIN	Scottish Labour Party	706
Bill MASON	Scottish Conservative and Unionist	1,452
Jane MCTAGGART	Scottish National Party (SNP)	363
Marion ROBERTSON	Scottish Green Party	132
	Total	3,496

Candidate Bill MASON Elected with 1,452 votes, being in excess of the quota of 875

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Bill MASON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Anne ANDERSON	489	0.39738	194.31882
Transfer to Graham LINDSAY	19	0.39738	7.55022
Transfer to Kathleen MARTIN	337	0.39738	133.91706
Transfer to Bill MASON	0	0.00000	0.00000
Transfer to Jane MCTAGGART	15	0.39738	5.96070
Transfer to Marion ROBERTSON	71	0.39738	28.21398
Value of non-transferable ballot papers			207.03922
	Total		577.00000

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Marion ROBERTSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Anne ANDERSON	31	0.39738	12.31878
Transfer to Anne ANDERSON	49	1.00000	49.00000
Transfer to Graham LINDSAY	3	0.39738	1.19214
Transfer to Graham LINDSAY	24	1.00000	24.00000
Transfer to Kathleen MARTIN	15	0.39738	5.96070
Transfer to Kathleen MARTIN	23	1.00000	23.00000
Transfer to Bill MASON	0	0.00000	0.00000
Transfer to Jane MCTAGGART	1	0.39738	0.39738
Transfer to Jane MCTAGGART	21	1.00000	21.00000
Value of non-transferable ballot papers			23.34498
	Total		160.21398

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Jane MCTAGGART

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Anne ANDERSON	3	0.39738	1.19214
Transfer to Anne ANDERSON	7	1.00000	7.00000
Transfer to Graham LINDSAY	8	0.39738	3.17904
Transfer to Graham LINDSAY	352	1.00000	352.00000
Transfer to Kathleen MARTIN	1	0.39738	0.39738
Transfer to Kathleen MARTIN	13	1.00000	13.00000
Transfer to Bill MASON	0	0.00000	0.00000
Transfer to Marion ROBERTSON	0	0.00000	0.00000
Value of non-transferable ballot papers			13.58952
	Total		390.35808

N.B. The figures may not add due to rounding.